
podium pros
speaking with confidence

353 Saunders Rd. | Unit 10 | Barrie | ON | L4N 9A3

@podiumproswww.podiumpros.com	

LED Uplit Podium Front Panel 
Replacement Guide



podium pros
speaking with confidence

353 Saunders Rd. | Unit 10 | Barrie | ON | L4N 9A3

@podiumproswww.podiumpros.com

Remove #8 screws located on the inside of the podium body, at the angle brackets attaching 
the podium speaking surface (shown in image one and two). 

Loosen and remove two 7/16” nuts located under the speaking surface, attaching the top to the 
left and right inner frame (shown in image one and two).

Unplug connector cable attached to the quick disconnect box mounted on the underside of the 
speaking surface (shown in image one).

Standing from the back of the podium, slide the top forward and lift up and away, taking care 
not to pull any wires when lifting.

#8 Screw

#8 Screw

7/16” Nut

7/16” Nut

Unplug 
connector



podium pros
speaking with confidence

353 Saunders Rd. | Unit 10 | Barrie | ON | L4N 9A3

@podiumproswww.podiumpros.com

Remove four #8 screws holding the back panel in place.

These are located at the top left, top right, bottom left, and bottom right of the back of the panel.

Remove two #6 screws located on 
plate attaching to cross beam along 
top edge.

Allow the plate to fall back without 
pulling on wiring.



podium pros
speaking with confidence

353 Saunders Rd. | Unit 10 | Barrie | ON | L4N 9A3

@podiumproswww.podiumpros.com

Disconnect left and right LED connector cables by pressing down on plastic latch to unclip



podium pros
speaking with confidence

353 Saunders Rd. | Unit 10 | Barrie | ON | L4N 9A3

@podiumproswww.podiumpros.com

Using T30 torque wrench, loosen torque screws holding the cross beam in place. 

Slide the beam up and out of the frame, exposing the channels where the front panel rests. 

Once cross beam has been removed, grip front panel by top edge and pull straight out. 

Line up edges of new front panel to ensure they fit into the frame channels before sliding 
down to the base.

Follow instructions in reverse order to re-attach all pieces.


